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· Options: using sources of information to make and justify a decision, and explaining why you did not choose the alternative option. (10 marks)

· Selective in use of facts – using sources of information to identify evidence that supports and evidence that opposes a given statement (8 marks)


· Conclusions: using sources of information to make and justify conclusions. (8 marks)
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OPTIONS EXAMPLE 1

Nat 5 Specimen paper Options question:
Study Sources 1, 2 and 3 below, then attempt the question which follows.
You are a government adviser. You have been asked to recommend whether the
Government should build the Melo Bonte Dam.
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OPTIONS MARKING SCHEME AND MODEL ANSWER
The candidate is required to use a limited range of sources, selecting evidence from them in order to make and justify a decision / recommendation.

You will be awarded up to three marks for a justification depending on relevance and development of the evidence.

You will be highly credited if you make justifications which show interaction between the sources.

For full marks, you must justify your decision / recommendation and explain why you have rejected the other option. 

Answers which deal with only one decision will be awarded a maximum of 8 marks.

Across the whole answer you must use all 3 sources to achieve full marks. 

Model Answer to National 5 Specimen Paper – 10/10 Using O T O A
I have chosen Option 1 to build the Melo Bonte Dam.
My first reason for Option 1 is from Source 1 which clearly shows the Minister of Mines and Energy stating the dam will ‘play an important role in the development of the area’. This is linked to Source 1 which also states “the Government says the dam is vital for the continued expansion of the economy, as the population need electricity” and the dam would provide electricity for 23 million homes. This clearly shows that the dam would be beneficial.
My second reason for Option 1 is from Source 1 which points out that the Government say most people support the decision to build the dam. This is confirmed by Source 2, which shows 65% of all people polled agreed with the Government’s decision to build the dam. Just 30% of all people disagreed. This clearly shows the need to build the dam.
[bookmark: _GoBack]My third reason for Option 1 is from Source 3 which  also points out that many people who live in the rainforest back the dam because it will generate employment. This is linked with Source 1 which also confirms that some of the rainforest’s residents hope to benefit from the estimated 18,000 direct jobs and 80,000 indirect jobs the dam will create. This is important as Source 2 shows over 55% of people feel jobs are the main priority facing the country. This clearly shows the need for the dam. 
The reason I did not choose Option 2 – not to build the Melo Bonte Dam, as although Source 1 shows that protesters say the dam could cause ‘serious damage’ to the rainforest ecosystem, Source 2 shows that according to an opinion poll, people felt the environment was the least important priority facing the country. More thought jobs were more important, which the dam would create. 
Another reason that I did not choose Option 2, as although Source 1 shows protesters are concerned that up to 50,000 rainforest residents could be negatively affected, Source 1 points out that the Government Minister of Mines and Energy has promised that those displaced by the dam would be compensated. Source 3 confirms this, showing that the companies building the dam agreed in July to pay $803 million to create parks and help monitor forests and to pay compensation to people affected by the dam, so the negative affects will be limited.
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OPTIONS EXAMPLE 4
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OPTIONS EXAMPLE 7
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OPTIONS EXAMPLE 8
(from 2013 Int 2)
Study Sources 1, 2 and 3 below, then attempt the question which follows.
[image: ]You are an adviser to the Scottish Government. You have been asked to consider whether there should be a single police force in Scotland. 
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END OF OPTIONS EXAMPLES
SELECTIVE IN THE USE OF FACTS
MARKING SCHEME AND MODEL ANSWER
The candidate is required to evaluate a limited range of sources, detecting and explaining instances of exaggeration and/or selective use of facts, giving developed arguments.

 In order to achieve full marks candidates must show evidence that has been selected as it supports the view and show evidence that has not been selected as it does not support the view. 

An answer which deals with only one side of the explanation should be awarded a maximum of 6 marks.
For full marks, candidates must explain why the statement is selective in the use of facts; otherwise only a maximum of 6 marks can be awarded.
Candidates can be awarded up to 3 marks for a developed explanation depending upon the quality of argument and accurate use of information.

	Remember:
                      Selective-Not Supported-Fib
              Not Selective-Supported-Truth




Selective in the use of facts    Model answer : Using S W A N

Mr Smith cannot be supported when he says “quote statement“, because Source X shows that “quote source”. This shows that…. (link statement and source).
This clearly shows that Mr Smith has been selective in his use of facts as it is clear that she has chosen to use the information from the sources and……state the reason why! 
I can support Mr Smith when he says “quote statement“. This is clearly shown in Source X which shows that “quote source”. This is supported by evidence in Source X which shows that (link statement and source). 
This clearly shows that he has not been supportive in the use of facts because the sources show that…..state reason why!





SELECTIVE EXAMPLE 1
(From 2012 Int 2 and Nat 5 Prelim)
Study Sources 1, 2 and 3 below, then attempt the question which follows.
[image: ]
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Using Sources 1, 2 and 3 above, explain why the view of Gillian Duffy is selective in the use of facts. 
 (
New tax raising powers for the Scottish Parliament would be good for Scotland
.
                                                                                                          View of Gillian Duffy.
)

	
In your answer you must:
· Give evidence from the sources that supports Gillian Duffy’s view
And
· Give evidence from the sources that opposes Gillian Duffy’s view
· Your answer must be based on all three sources.	8

Model answer 8/8 to above question
Gillian Duffy can not be supported when she says “New tax raising powers for the Scottish Parliament would be good for Scotland”. Source 1 clearly shows that it could lead to higher taxes in Scotland compared to England. This can be further supported by evidence from source 1 which shows that it could reduce the influence of the UK Government and lead to the eventual break-up of the UK and evidence from source 1 stating that more people believe the UK Government/Parliament has most influence over the way Scotland is run. 

She can also not be supported when Source 1 states that new tax raising powers would give the UK government an excuse to reduce the funding to the Scottish Government and Parliament and this could lead to less spending on health and education and this could make the Scottish Government less popular and reduce trust. This can also be supported by Source 3 which shows that trust in the Scottish Parliament has declined from 70% in 2007 to 60% in 2009. 

This clearly shows that Gillian Duffy has been slightly selective in her use of facts as it is clear that she has chosen to use the information from the sources and show that there are a number of negative views on whether new tax raising powers would be good for Scotland. 
                                                                                                                 
I can support Gillian Duffy when she says “New tax raising powers for the Scottish Parliament would be good for Scotland”. It is clearly shown in Source 1 which shows that the Scottish Parliament could choose to have lower taxes or spend more on public services. This is supported by evidence in Source 1 which shows that the Parliament is more accountable as voters could choose the party which had the tax and spending policies they support. This is also evidenced in Source 2 which shows the percentages of people who think the Scottish government has more power has risen since 1999 while the percentage of people who think the UK government has more power has fallen since 1999.

I can also support Gillian Duffy using evidence from Source 1 which shows that Scotland has had devolution for 10 years which links to evidence from Source 1 which states that some believe new tax-raising powers are the next step to increase the powers of the devolved Parliament now that it is well established and trusted by the Scottish people. This is supported in Source 3 which shows that 61% think the Scottish Parliament can be trusted to act in Scotland’s interests compared with only 24% who think the UK Parliament can be trusted to act in Scotland’s interests in 2009. 

This clearly shows that Gillian Duffy has not been selective in her use of facts because the sources show that many people have views which think that new tax raising powers are a good thing.

SELECTIVE EXAMPLE 2
(From Specimen paper)
[image: ][image: ]

 (
In your answer you must:
Give evidence from the sources that supports Billy MacKenzie’s view
And
Give evidence from the sources that opposes Billy MacKenzie’s view
Your answer must be based on all three sources.
8
)[image: ]








SELECTIVE EXAMPLE 3
(from Specimen paper)
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 (
 
In your answer you must:
Give evidence from the sources that supports Danny Wilson’s view
And
Give evidence from the sources that opposes Danny Wilson’s view
Your answer must be based on all three sources.
8
)[image: ][image: ]






SELECTIVE EXAMPLE 4
(From 2013 Int 2)
Study sources 1, 2 and 3 below, then attempt the question which follows.
[image: ]
[image: ]

[image: ]
Explain why the view of Brian Moore is selective.

In your answer you must:

· Give evidence from the sources that supports Brian Moore’s view

And

· Give evidence from the sources that opposes Brian Moore’ view

Your answer must be based on all three sources.	8





SELECTIVE EXAMPLE 5
(From 2012 Int 2)
Study sources 1, 2 and 3 below, then attempt the question which follows.
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In your answer you must:

· Give evidence from the sources that supports Adam Stewart’s view

And

· Give evidence from the sources that opposes Adam Stewart’s view

Your answer must be based on all three sources.	8

END OF SELECTIVE EXAMPLES
CONCLUSIONS MARKING SCHEME AND MODEL ANSWER 
The candidate is required to use the sources provided to draw valid conclusions, with supporting evidence. You should draw conclusions using the headings / bullet points in the question.
 An answer which merely repeats the source material without making judgements or conclusions will be awarded zero marks. 
For full marks three developed conclusions must be given. You should link information within and between sources in support of your conclusions. 
A conclusion - is a statement - supported with evidence 
                    - Consider what the question is asking.
                   - Look at the sources, make links between sources. 
     - Make a conclusion based on the evidence. It must not be the same as your evidence.  Your conclusions are a statement, THEN give your statistical/source evidence. 
· Candidates should draw 3 conclusions using the headings/bullet points in the question.
· Candidates should be highly credited if they draw conclusions which show interaction between the sources. Answers which merely repeat the source material without making judgements or drawing conclusions should be awarded zero marks.
· Be supported by valid evidence drawn from two sources or different parts of the same source
· Not be the same as your evidence.  Your conclusion is a statement, THEN give your statistical/source evidence
· Make sure your conclusion evaluates, eg is more than, significant change, equal to, decreases dramatically........ Candidate must make an original and insightful conclusion of their own which is supported by more than one piece of valid evidence drawn from two sources or from different parts of the same source. 
· The conclusion will make a judgement and use evaluative terminology. 
· By the end of your question you should have used all the sources and have three, detailed, linked conclusions 

Proforma Conclusion Answer           Conclusion Original All Linking Sources Three COALST
Ist Conclusion point from question

My first conclusion is that ______________________________.
I can support this conclusion using sources _ and _. Source __ states that_____________. Source __ also shows_____________________________. This can be further supported by Source ____ which provides further evidence ________________________________________________________________.

My second conclusion is that ______________________________.
I can support this conclusion using sources _ and _. Source __ states that_____________. Source __ also shows_____________________________. This can be further supported by Source ____ which provides further evidence ________________________________________________________________.

My third conclusion is that ______________________________.
I can support this conclusion using sources _ and _. Source __ states that_____________. Source __ also shows_____________________________. This can be further supported by Source ____ which provides further evidence ________________________________________________________________.












CONCLUSIONS EXAMPLE 1 
(from Nat 5 Prelim)
Study sources 1, 2, and 3 below, then attempt the question which follows. 
 (
In terms of total ODA to all less developed countries, the G8 countries have all increased their contribution, with Canada almost doubling its ODA contribution. Recent health and education figures have been encouraging. Between 1996 and 2009 the % of HIV sufferers in Rwanda has declined from 7.0% to 2.8%. 
)[image: ]
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SOURCE 3
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Using sources 1, 2 and 3 above, what conclusions can be drawn about the G8 and aid to African countries?
You should reach a conclusion about each of the following:
· The success of the G8 in meeting Promise 1
· The success of the G8 in meeting Promise 2
· The G8 country most committed to meet the UN aid recommendation

Your conclusions must be supported by evidence from the sources. You should link information within and between sources in support of your conclusions.		  
Model answer 8/8 to above question
· The success of the G8 in meeting Promise 1
My first conclusion is that G8 countries have been very successful in meeting Promise 1.
I can support this conclusion using sources 1 and 3. Source 1 states that Promise 1 is to improve health. Source 1 also shows that the % of people in Rwanda with HIV decreased from 7.0% in 1996 to 2.8% in 2009. This can be further supported by Source 3 which provides further evidence of improved health with infant mortality rates declining and life expectancy rising in all three countries. In Malwai, infant mortality rates have declined from 122 in 1996 to 65 in 2009 and in Ethiopia life expectancy has increased from 49 to 56.


· The success of the G8 in meeting Promise 2
My second conclusion is that the G8 countries have not been successful at all in meeting Promise 2.
I can support this conclusion using sources 1 and 2.  Source 1 shows that Promise 2 is to more than double the total ODA has given to all less developed countries by 2010. Source 1 also shows that Canada almost reached Promise 2 with its ODA spend increasing from $2.6 billion in 2004 to $5.1 billion in 2010, but it failed to double it. This is further supported by Source 2 which shows the figure for the UK went from $7.9 billion to $13.8 billion. Again, this has not been doubled. This was the same for other G8 countries in the table; all failed to more than double their ODA contribution.

· The G8 country most committed to meeting the UN aid recommendation
My third conclusion is that the UK is the G8 country most committed to meeting the UN aid recommendation.
I can support this conclusion using sources 1 and 3. Source 1 states that the UN aid recommendation is 0.7% of a country’s GNI set aside for ODA. This is further supported in Source 2 which shows that in 2010 the country giving the highest % of GNI as ODA was the UK at 0.56%. This is below the UN recommendation but it does make the UK the most committed G8 country. All other countries increased their % of GNI but none reached the figure of 0.7%











CONCLUSIONS EXAMPLE 2
(From Nat 5 Specimen)
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CONCLUSIONS EXAMPLE 3
Read Sources 1, 2 and 3, then answer the question which follows.
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CONCLUSIONS EXAMPLE 4
(From 2013 Int 2)
Study Sources 1, 2 and 3 below and opposite, then answer the question which follows.
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CONCLUSIONS EXAMPLE 5
(From 2012 Int 2)
Study Sources 1, 2 and 3 below and opposite, then answer the question which follows.
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CONCLUSIONS EXAMPLE 6
(From 2011 SG C)
Study the information in the “Spotlight on Trade Unions” pamphlet below and
opposite, then answer the question which follows.
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CONCLUSIONS EXAMPLE 7
(From 2009 SG C)
[image: ]
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END OF CONCLUSIONS EXAMPLES
6
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() Study Sources 1, 2and 3 below and opposite, then answer the question which follows.

You are an adviser to the Scottish Government. You have been asked to recommend whether the
police should install more CCTV camerss or should not install more CCTV cameras.

Option 1 Option2
Install more CCTY cameras. Should not install more CCTV camers.

SOURCE1

Facts and Viewpoints

CCTV cameras were introduced to Scorland's strects as a method of tackling crime. There are now
‘approsimately 2,335 cameras in Scotland monitoring public spaces such as city centres, parks and

shopping centres.

+ CCTV is proven to be highly effective in reducing crime in some places cg hospitals and car
parks.

+ Some rescarch indicates where cameras are installed crime increases in nearby areas without
CCTV cameras.

+ Police believe that criminals are more likely to plead guilty when presented with CCTV.
cvidence. This saves time in court and up to £5,000 of the costs of a tril.

+ A case study in the Greater Glasgow area could find no link between the installation of CCTV.
cameras and  reduction in crime.

+ Police officers report that one of their big frustrations is broken and vandalised cameras and
CCTV images which do not capture offences clearly enough.

+ There were 3,318 recorded incidents in 2008/9 using CCTV cameras which resulted in
587 cvidence discs being provided for the Procurator Fiscal Service.

+ Many members of the public are concerned that more CCTV means a loss of civil libertics and
an invasion of their private lives.

+ The majority of the public believe that the installation of more CCTY cameras is a positive
thing.

+ Scotland's cities already have too many cameras in operation compared to other countries,
costing a huge amount of mony.

+ Strathelyde Police recently claimed a 75% drop in anti=social behaviour following the installation
of s £130,000 CCTV system in a town with a histary of this type of problem.
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SOURCE2: Statistics
Crimes per year | Crimes per year
Area before CCTV after CCTV | Percentage change
installed installed
City 1526 1098 0%
City car park 794 214 7%
Hospital is 2 =Ty
Inner city estate 160 152 1%
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SOURCE 2 (continued)
Public feclings on installation of CCTV cameras

Controllers may abuse
the system

T will be less likely to
e victim of crime.

Will prevent crime.

Invasion of privacy

0% 10% 20% 30% 40% 50% 60% 70% S0% 90%
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SOURCE 3

Viewpoints
Law abiding citizens have nothing to fear from CCTV; in fact it can help to protect them
by deterring criminals from committing unlawful actions. CCTV can save taxpayers money
by speeding up court cases. CCTV is of great benefit to police forces around the country
especially when dealing with anti-social behaviour. The CCTV operators can direct the
In

police to any possible flashpoints so that they can deal with problems before they ari
addition, if a crime is committed, the CCTV evidence can be used in court to ide:
criminal. We should use more new technology to aid the fight against crime.

John Morton

Installing CCTV cameras does not reduce crime rates. CCTV cameras are not cffective
in solving even straightforward crimes like strect robberics. One problem is that some
operators have not been trained in using the system properly and as a result, the cameras
can be badly positioned and out of focus. CCTV is an invasion of privacy as most ordinary
izens do not commit crime but still have their movements followed and recorded up to 300
imes per day. At best, CCTV only makes offenders move away from arcas with cameras to
commit crimes where there are none. Too much money is wasted on CCTV cameras; this
‘money would be better spent putting more police on the street.

Pauline Clark

You must decide which option to recommend to the Scottish Government, either they should
install more CCTV cameras (Option 1) or should not install more CCTV cameras (Option 2).

Using Sources 1, 2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.

Your answer must be based on all the Sources.
(10 marks)
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(e) Study Sources 1,2 and 3 below and opposite, then answer the question which follows.

You are an adviser to the Scottish Government. You have been asked to recommend
whether the Goverment should introduce automatic custodisl sentences (prison or
detention centre) for any person found carrying a knife in public.

Option 1 Option 2
Introduce sutomatic custodial sentences | | Do not introduce sutomatic custodial
for people found carrying knives in| | sentences for people found carrying
public. knives in public

SOURCE 1

Facts and Viewpoints

The Scottish Government s considering a petition which would mean that any person

carrying a knife would be given a mandatory custodial sentence. This would mean that

possession of such a weapon would sutomatically result in the offender being sent to
prison or detention centre.

+ Community groups have called on the Government to take action to deter young
people from carrying knives.

1200 offenders were sentenced for possession of a knife between 2004 and 2009, but
only 314 were given custodial sentences.

+ Scottish Prisons reported that as a result of overcrowding, offenders were not serving
their full sentence and were being released carly. Automatic sentences may make this
problem worse.

* 1n2009, one in five people convicted of carrying a knife in Edinburgh had previously
been charged for a similar offence.

+ Some young peaple carry a knife for their own self-defence as they are worried about
their own personal safety when they go ou.

= 30% of young people thought that introducing tougher sentences would reduce knife
erime; 53% thought that community sentences were an appropriate punishment for
young people found carrying a knife.

* Judges in Scodand think that they should be able to consider the personal
circumstances of cach case before sentencing.

A custodial sentence can have a huge impact on the future of young people convicted.

+ The number of people sent to prison for carrying a knife in public fell to a five year
low in 2008 because only one in three offenders were jailed.
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SOURCE 2 (continued)

Number of recorded crimes of carrying a knife in Scotland
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SOURCE 2

Crime statistics for Scotland

Year | Total number of murders | % of murders with knives
200372004 108 st
200412005 137 3
2005/2006 B B
2006/2007 120 I

200772008

113
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SOURCE 3

Viewpoints
We need to tackle knife crime which is a problem in many of our communities. Peaple in
my arca are extremely worried and they are demanding that the penalties for carrying
knives are much tougher.  Many people won't leave their houses because they are
frightened of young people roaming around in gangs. We must send out 4 strong message
to troublemakers who go out looking for  fight. Many of these individuals have been
charged before but this has had litle effect on their behaviour. 1f people know they will
e sent to prison, they will be deterred from carrying s knife in the fist place.
Derek Reid

Locking up people who carry knives is not the answer to tackling this problem. Many
soung people who carry knives are not criminals. They carry knives because they are
Scared for their own safety. Sending young people to prison will only teach them how to
commit more crimes. They will get caught in the vicious cycle of offending as they will
have a criminal record which makes it difficult to get a job. More work needs to be done
in communities working with young people. The carrying of knives s actually
decreasing, another reason why this proposed automatic sentencing is not necessary.

Louise McKay
You must decide which option to recommend to the Scottish Government, either introduce.
automatic custodial sentences for people found carrying knives in public (Option 1) or not
to introduce sutomatic custodial sentences for people found carrying knives in public
(Option 2).
Using Sources 1,2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.
Your answer must be based on all the Sources.

(10 marks)




image12.png
@

Study Sources 1, 2 and 3 below and opposite, then answer the question which follows.

You are an adviser to the Scottish Government. You have been asked to recommend
whether or not to continue with the Community Warden Scherme.

Community wardens have operated in the UK for about 10 years. In 2003, the Scottish
Government gave £20 million to fund Community Warden Schemes in all 32 Scottish
local authorities.

Option 1 Option2
Continue with the Community Warden [ | Do not continue with the Community
Scheme. Warden Scheme.
SOURCE 1
Selected Facts and Viewpoints

The role of community wardens is to act as a deterrent to antisocial behaviour and
reassure people whose lives are affected by crime.

A community warden carns about £17,000 per year while a police constable can
carn between £22,000 and £34,000.

Community wardens act as the “cyes and cars” of the community; lisising with the
police,fire service and local council departments.

‘Some young people feel that community wardens were being introduced to control
their behaviour and fecl harassed.

‘Some older residents feel seassured by the presence of community wardens and are
more prepared to report antisacial behaviour to them as they fecl it is more likely
that something will be donc.

Most community wardens in Scotland do not have any cnforcement powers;
although in some arcas they can issuc fines for lttering and dog fouling.

It has been claimed that when community wardens are used in an area, those.
ereating problems in that area move to somewhere clsc.

‘Wardens are able to monitor situstions and take notes before the police arrive which
can be used as evidence in courts.

Those involved in serious crime will not be deterred by community wardens.
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SOURCE 2 (continued)

Survey of Community Wardens; Question 2
What do you spend most of your time dealing with?

Vouth disorder 35% | Neighbourhood disputes A
Dumping rubbish 15% [ Assauls 3
“Antisocial behaviour 13% | Abandoned vehicles A
Cleaning up graffis 12% | Crimes of dishonesty o
On-strect drinking 9% | Fire raising %
Drug sbuse I
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SOURCE 2

Survey of Community Wardens; Question 1
How would you describe your relationships with the local community?

Description Percentage of Wardens
Excellent 20%
Very Good 4%
Gaod o
Poor %
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SOURCE 3

Viewpoints

Community wardens are a good thing. The scheme makes people in communities feel
safer and is good value for money. Community wardens have more time than the police
to build up relationships with people who live in communities that suffer from
antisocial behaviour and a poor environment. Wardens can stop problems before they
happen and can build up trust amongst young people by talking to them informally on
the street and attending after school clubs. Community wardens can spend their time
dealing with the sort of problems which concern people in communities.

Kate Henderson

Community wardens are trying to do the job of the police on the cheap but they will
never be as effective as fully trained police officers. Wardens do not have the power to
arrest offenders. They can only report incidents to the police who then have to deal
with them. Wardens spend much of their time dealing with unimportant matters.
They have not managed to make good relationships with young people. Young people
feel that community wardens have been introduced to control them and move them on
when they are meeting with their friends.

Kenny Bell

You must decide which option to recommend to the Scottish Government, either continue
with the Community Warden Scheme or do not continue with the Community Warden
Scheme.

Using Sources 1,2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.
Your answer must be based on all the Sources.
(10 marks)
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irces 1, 2 and 3 below and opposite, then answer the question which follows.

You are an adviser to the Scottish Government. You have been asked to recommend
whether the DNA database should contain profiles of the whole population or kecp.
the DNA database for profiles of convicted criminls only:

Option 1 Option2
The DNA database should contain | | The DNA datsbase should contain profiles of
profiles of the whole population. convicted criminals only:

SOURCE1

Facts and Viewpoints

In Scotland, only convicted criminals have their DNA profile stored on the DNA

database. The profile contains details sbout individusls which can be used for

investigating crimes.

* If the whole adult population had their DNA profiles on the database, this would
help in the investigation and prosccution of crime.

* To cxpand the database to include the whole population would be very expensive.

+ Most people would spprove of a new lax requiring sll sdults to give s sample of
their DNA to help with prevention and detection of crime.

* Money and time would be saved if everyone’s DNA profile was taken only once.

* Ifa person's DNA is found to be present at a crime scene they could be viewed as
guilty without any other supporting evidence.

* Cursentl, there are not enough safeguards in place to ensure that there is no misuse
of DNA information.

 DNA cvidence is not foolproof and may lead to wrongful convictions.

+ Edhnic minorities are more likely, at present, to be on the daabase than white
people.

* DNA databases are only as reliable as those who handle themmthere are many
spelling errors and inaccuracics in the storage of information.
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SOURCE2
‘The Percentage of Selected Ethnic Groups on DNA Database

Ethnic Group % of Ethnic Group on Database

White. o%

1%

Black 3
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SOURCE 2 (continued)
Result of Opinion Poll Survey

‘Should there be a new la
requiring everyone over 18 to
give a sample of DNA?

TFyou were to serve on  jury would you
count DNA evidence as more or less
important than other evidence?

Yes 6% More important 5%
No B Less important 4%
Equally important 2%
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SOURCE 3

Viewpoints
The DNA database should contain profiles of the whole population. The current
system is unfair. It would be fairer to include everybody, guilty or innocent. Having
cveryone on the dstabase means there will be no discrimination against cthnic
‘minorities.  Civil liberties groups and representatives of the black community say that
the existing database reinforces racial biss in the criminal justice system. DNA
evidence will not be used in all cases, but will help the police convict the right person in
the most serious of crimes.

Police Spokesperson

The DNA database should be kept for profiles of convicted criminsls only. The
Universal Declaration of Human Rights states that everyone has the right to protection
of their privacy in their family or home lfe. To have everyone’s DNA profile on the
database would mean innocent people are having their rights sbused. If two people
meet on the street and shake hands their DNA is transferred. If one of these people
then commits a crime, the DNA of the person he or she shook hands with could be
found at the crime scene. DNA evidence is not the answer to solving the great majority
of erimes.

Civil Rights Spokesperson

You must decide which option to recommend to the Scottish Government, cither the
DNA datsbase should contsin profiles of the whole population or the DNA database
should contain profles of convicted criminals only:

Using Sources 1,2 and 3 above and opposite, which option would you choose?
Give reasons to support your choce.
Explain why you did not make the other choice.

Your answer must be based on all the Sources.
(10 marks)
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(c) Study Sources 1, 2 and 3 below and opposite, then answer the question which follows.

You are an adviser to the Scottish Government. You have been asked to recommend
whether or not to continue with the carly release of prisoners.

Option 1 Option 2
Continue with the early release of | [ Do not continue with the early release of
prisoners. prisoners.
SOURCE 1
Selected Facts and Viewpoints

The principle of early release means that prisoners can be released from prison before
the full term of the sentence given by the court has been served. The prisoner may then
have to spend a period of time on community service and/or be electronically tagged.

+ The system of early release provides a way to encourage good behaviour of
prisoners.

+ Seceing a prisoner released early undermines the public’s idea of justice.

+ When on early release, the threat of being put back in prison helps to reduce the risk
of re-offending.

« For victims, knowing that the offender has been released can cause stress and worry.

+ The Scottish Government has established a new Risk Management Authority,
which will more accurately assess the chance of a person re-offending.

* Families and relatives of the victims assume that the convicted person will serve the
whole sentence given by the court.

* Over recent years the prison population has increased resulting in overcrowding.

* The number of criminals returned to prison after being released carly has increased
in the last 10 years with 12% in the last year alone.





image21.png
450
400
350
300
250
200

150
100

50
0

SOURCE 2 (continued)
Number re-offending after early release, Scotland 1997-2006
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SOURCE 2
Scottish Prison Population by Length of Sentence, 2002-2005

Length of Sentence 2002 2003 2004 2005
Less than four years 2073 2112 2157 2232
More than four years 1663 1685 1773 1821
Life 571 574 567 597
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SOURCE 3

Viewpoints
The practice of early release of prisoners should continue. The law should not require
every prisoner to serve the whole period of their sentence in prison. Part of the
sentence, where risk of re-offending has been properly assessed, should be served in the
community. Early release would reduce the strain on prisoners’ families. The size of
the prison population and overcrowding need to be tackled, as well as reducing the huge
cost of keeping people locked up for many years. Early release should take into
consideration the progress of the prisoner within the prison system.

View of Ellie Foster

The practice of early release should not continue. The law should require that every
prisoner serves the whole period of imprisonment of the sentence given. Prison is a
deterrent; it prevents some from committing crimes and re-offending. The public are
very unhappy with the current early release system, especially when released offenders
g0 on to re-offend. The use of electronic monitoring devices and community service is
an easy option for criminals. Early release favours the prisoner not the victim. End
carly release and reassure the public that the offender is safely locked behind bars.

View of Eddie Wright

You must decide which option to recommend to the Scottish Government, either to
continue with the early release of prisoners or not to continue with early release of
prisoners.

Using Sources 1, 2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.

Your answer must be based on all the Sources.
(10 marks)
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Study Sources 1, 2 and 3 below and opposite, then answer the question which follows.

You are an adviser to the UK Government. You have been asked to recommend
whether or not the police should be given additional powers to detain terrorist
suspeets for up to 90 days without charge.

Option 1 Option 2

Give police additional powers to detain | | Do not give police additional powers to detain

terror

suspects for up to 90 days | | terrorist suspects for up to 90 days without

without charge. charge.

SOURCE 1

Selected Facts and Viewpoints

Detention for 90 days is against civil liberties.

Since the attack on the USA on September 11 2001, Britain has also been a target
for terrorists.

The increased threat from international terrorism means that the police need

increased powers.

To increase maximum detention to 90 days would be against the UK’s international
human rights responsibilitics.

The complexity of a terrorist investigation means that police need more time to
investigate before charges are brought.

Imprisonment without charge for 90 days will do more harm than good and lead to
resentment and more recruits to terrorism.

Supporters argue that the police need the extra time because of the difficulties of
gathering evidence from overseas and from coded computer messages.

The rights of those detained would be protected because a judge would need to
approve the continuing detention at regular intervals throughout the 90 days.

The increased powers could lead to a worsening of community and race relations in
the UK.





image25.png
SOURCE 2 (continued)
Results of a YouGov Poll

Question

Do you think it may sometimes be necessary to restrict the civil liberties of suspected
terrorists even though there is not enough evidence to charge and convict them?

We——— 3

be necessary 70%
No, nobody should have their 32%
liberty restricted without being
charged and taken to court 23% Bl 2005
10% [ Oct 2005
Don’t know
7%
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Arrests in the UK under the Terrorism Act 2000,
September 2001 to September 2005

Convicted of offences under the Terrorism Act 23
Charged under the Terrorism Act 115
Charged under other legislation 156
Transferred to Immigration authoritics 63
Released without charge 496
Other outcomes. 42
Total arrests 895





image27.png
SOURCE 3

Viewpoints
The police should be given powers to detain terrorist suspects for up to 90 days due to
the recent increase in the threat of terrorism. It would only be in a very few cases where
a person would have to be detained for the full 90 days. More time is needed to gather
evidence against suspects because of the nature of attacks like the 2005 London
bombings. The investigations into the events of July 2003 produced 80000 videos of
CCTV footage and 1400 sets of fingerprints at 160 suspected crime scenes.

Police Spokesperson

The police should not be given powers to detain terrorist suspects for up to 90 days; the
current 28-day rule is sufficient. It is just as bad as detention without trial. The Law
Lords have ruled that detention without trial is illegal and unacceptable. It seriously
undermines the right to a fair trial, and the principle that you are innocent until proven
guilty. This country is in danger of abandoning its democratic values.

Human Rights Spokesperson

You must decide which option to recommend to the UK Government, either to give the
police additional powers or not to give the police additional powers to detain terrorist
suspects for up to 90 days without charge.

Using Sources 1, 2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.

Your answer must be based on all the Sources.
(10 marks)
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Option 1 Option 2

Scotland should have a single police force. Scotland should not have a single police force.

SOURCE 1

Facts and Viewpoints

Scotland has had eight regional police forces each headed by a Chief Constable. The Scottish
‘Government is to merge these into a single police force.

“There are big differences between Scotland’s cight forces in terms of population served, area
covered and resources available.

Seven out of the eight Chief Constables were against the introduction of a single force.

About 25% of the policing budget, £350 million across Scotland, is spent on headquarters
functions; a single force would be more efficient and allow resources to be shared.

The introduction of a single police force would lead to significant job losses for staff working in
supporting roles.

Certain crimes continue to rise. Many people do not have full confidence in the policing of
their local area.

Different regions have different crime levels and would be better served with their own police
force.

Recorded crime in Scotland is at a 32-year low with a fall in many recorded crimes, showing the
present system works well.

Over £1-4 billion is spent on policing in Scotland annually. The introduction of a single police
force is expected to save a large amount of money per year.

"The estimated cost of policing the 2014 Commonwealth Games in Glasgow is over £20 million.
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Estimated savings from a single police force

Year Yearly Saving Total Savings
1 £21,560,000 £21,560,000
2 £28,126,000 £49,686,000
3 £62,682,000 £112,368,000
4 £108,699,000 £221,067,000
5 £130,870,000 £351,937,000
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SOURCE 2 (continued)

Changes in crimes recorded by the police in Survey Result: Do you support the
Scotland, 2009-11 proposal to combine Scotland’s
R current eight police forces into a
Crime Number % Change single police force covering the
Serious assault 5,615 1 whole country?
Robbery 2,557 +2
Housebreaking 25,017 +5
Shoplifting 29,660 -2
Vandalism 78,054 -12
Drugs 34,347 -13 ot ko
Total crimes 323,060 -12 12%
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Viewpoints

Policing in Scotland must provide value for money. A single national force controlled from the
centre will save money. Scotland is a small country which could easily be policed by one force.
Having one national headquarters rather than eight would be more efficient. More money could
then be spent on frontline services. With recorded crime at the lowest it has been for decades this is
the best time to modernise Scotland’s police force. At present, resources have to be shared between
forces to police big sporting events. Having a single force would mean that resources could be
shared for major events more easily. A single national force could respond to large scale emergencies
and terrorism more effectively.

David Craig

The introduction of a single centralised police force for Scotland is a bad idea. A single force will
not lead to big savings. Scotland as a country has very different policing priorities in different areas.
A single Scottish force cannot address this. Recorded crime is much higher in the cities than in rural
areas. It is unfair that the regions of Scotland should have to contribute to big sporting events that
take place in the central belt. The Scottish Government does not even have the backing of its own
police chiefs in this matter. People who live in low crime areas should not have to suffer because of
high crime levels in other parts of Scotland.

Luke Robertson|

You must decide which option to recommend to the Scottish Government, either to introduce a single
police force for Scotland (Option 1) or not to introduce a singe police force for Scotland (Option 2).

Using Sources 1, 2 and 3 above and opposite, which option would you choose?
Give reasons to support your choice.
Explain why you did not make the other choice.

Your answer must be based on all the Sources.
(10 marks)
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New Tax Powers Proposed for Scottish Parliament

More than 10 years after devolution was introduced in Scotland, there have been
calls for more powers to be given to the Scottish Parliament. Greater tax raising
powers have been proposed for the Parliament.

The new proposal would work by cutting the amount of money, from the block
grant, which the Scottish Government receives from the UK Government and
reducing the rate of income tax in Scotland by 10p. MSPs would then have to
decide what to do:

+  either set the “Scottish tax rate” at 10p so the amount of cash Scotland will
get would stay the same

*  or cut the rate to less than 10p and people’s taxes would fall but there would
be a reduction in public spending

+  orseta tax rate higher than 10p and be able to spend more on public services.

Some have argued against this change as it could lead to higher taxes in Scotland
compared to England. Others see it as still falling short of full independence,
which would give Scotland complete control over taxation and other matters.
Other opponents believe it would result in the Scottish Government getting more
power and reducing the influence of the UK Government, which could lead to
the eventual break-up of the United gdom.

Supporters of the proposal see it as the next step to increase the powers of the
devolved Parliament now that it is well established and trusted by the Scottish
people. It would also make the Parliament more accountable, as voters would be
able to choose the party which had the tax and spending policies they support.
There would be fewer arguments between the UK Government and the Scottish
Government about money as the Scottish Government would now have greater
control over its own spending decisions.
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Public Opinion Survey: Who has the most influence over the way Scotland is run?

1999 2001 2003 2005 2007 2009

Scottish Government/

Scottish Parliament 13% 15% 17% 23% 28% 33%

United Kingdom

Government/United 66% 66% 64% 47% 47% 39%
Kingdom Parliament
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Percentage of people who trust the UK and Scottish Governments
to act in Scotland’s interests.
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Number of recorded crimes of carrying a knife in Scotland
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Study Sources 1, 2 and 3 below, then attempt the question which follows.

SOURCE 1

Facts and Viewpoints

The Scottish Government is considering a petition which would mean that any person carrying a
knife would be given a mandatory custodial sentence. This would mean that possession of such a
weapon would automatically result in the offender being sent to prison or detention centre.

+ Community groups have called on the Government to take action to deter young people from
carrying knives.

« 1,200 offenders were sentenced for possession of a knife between 2004 and 2009, but only 314
‘were given custodial sentences.

« Scottish Prisons reported that as a result of overcrowding, offenders were not serving their full
sentence and were being released early. Automatic sentences may make this problem worse.

« In 2009, one in five people convicted of carrying a knife in Edinburgh had previously been charged
for a similar offence.

« Thirty per cent of young people thought that introducing tougher sentences would reduce knife
crime; 53% thought that community sentences were an appropriate punishment for young people
found carrying a knife.

« Judges in Scotland think that they should be able to consider the personal circumstances of each
case before sentencing.

« A custodial sentence can have a huge impact on the future of young people convicted.

+ The number of people sent to prison for carrying a knife fell to a five-year low in 2008 because
only one in three offenders were jailed.

« In 2009, 78% of youths questioned in Glasgow said that a prison sentence would make them never
carry a knife again.
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Evidence of Louise McKay to Scottish Parliament Committee

Locking up people who carry knives is not the answer to tackling this problem. Many of
the young people who carry knives are not criminals. Sending these youngsters to prison
would simply punish them for the rest of their lives for being young and foolish. Keeping
a prisoner locked up costs around £30,000 per year. Even half of this money spent on
community projects would help young people realise how much damage they can do
themselves and others by carrying a knife. The numbers caught carrying knives in
Scotland is falling. Clearly, this Government’s proposal for an automatic prison sentence
is not necessary and would be a waste of taxpayers’ money.

Using Sources 1, 2 and 3 above explain why the view of Billy Mackenzie is selective in the
use of facts.

Giving anyone caught carrying a knife a prison sentence is a good way to reduce
knife crime.

View of Billy Mackenzie.

«You should give information that Billy Mackenzie has selected as it supports his
view.

« You should give information that Billy Mackenzie has not selected as it does not
support his view.

Your answer must be based on all three sources.
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Study Sources 1, 2 and 3 below, then attempt the question which follows.

SOURCE 1

Homelessness in Scotland

« In Scotland, it is the responsibility of local councils to help homeless people.

« In 2011-12, 45,322 households made homeless applications to their local council in
Scotland. In 2010-11 the figure was 56,350.

+ In 2011-12, local councils accepted 35,515 of these applications. In2010-11 the
figure was 38,100.

+ Police report that the number of people forced onto homeless waiting lists because
of their anti-social neighbours has doubled since 2001.

« At present there are 87,000 empty homes of all types across Scotland and 29,300
second and holiday homes which lie empty for much of the year.

+ Many believe that the homelessness problem worsened due to the introduction of the
“Right to Buy” policy. This allowed council tenants to buy their homes, leaving few
decent houses for rental.

+ Housing charity Shelter has recently criticised the Scottish Government for cutting
the housing budget by 45%. Shelter claims that the most needy and vulnerable.
groups are suffering.

« In 2012, council waiting lists had almost 188,000 households on them. At the same
time there were 7,847 empty council houses.

« In 2011-12, 15,900 new houses were completed in Scotland. This represents a
reduction of 38% over the last four years.

« Charities like APEX and SACRO try to help ex-prisoners who find themselves homeless.
Both organisations have limited funding.





image39.png
SOURCE 2

New houses built in Scotland (2011-12)

Local council homes sold through
“Right to Buy” since 2001

Houses sold through

city “Right to Buy”
Aberdeen 4,345
Dundee 2,017
Edinburgh 3,914
Glasgow 8,566
Rest of Scotland 61,569
Scottish Total 80,411
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SOURCE 3

Article by Daisy Kingscourt, homeless campaigner

Although homelessness is falling in Scotland, it is still a worrying problem. Being without a
permanent home causes stress and illness among people. It affects the large number of
children involved, damaging their education and their health.

Over one quarter of all the households who apply for homeless status do so as a result of a
family dispute. The fact that 5% of homeless people have left prison or some kind of hospital
only to find themselves on the streets is a scandal. Homeless Scots do not often match the
common view of the homeless, ie a person who has been evicted for not paying their rent or
mortgage. In fact, less than 5% of the Scottish homeless are without a home for this reason.
Worryingly, 5% of homeless people leave their homes as a result of violence or harassment
from their neighbours. Working together, the Government, police and local councils must solve
these problems. An easy first step would be to reverse recent Scottish Government spending
cuts which are clearly affecting these vulnerable groups.

Using Sources 1, 2 and 3 above explain why the view of Danny Wilson is selective in the
use of facts.

“The homeless problem in Scotland is caused by a lack of available houses.”
View of Danny Wilson.

«You should give information that Danny Wilson has selected as it supports his view.

« You should give information that Danny Wilson has not selected as it does not
support his view.

Your answer must be based on all three sources.
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SNP take charge in the Scottish Parliament

The Additional Member System is used to elect the Scottish Parliament. Its
supporters claim it is broadly proportional which means the Parliament should be
representative of the political views of the country and does not allow one party to
have too much power. Its opponents claim it is complicated and usually result:
a coalition or minority government. The election held in May 2011 was unusual
as it resulted in the winning party having an overall majority in the Scottish
Parliament by winning more than half of the 129 MSPs.

For the first time, two cthnic minority MSPs were elected, making up 1-5% of the
Parliament. The number of female MSPs also rose to 45, which is 35% of the
total and the first female Presiding Officer, Tricia Marwick MSP, was chosen.

The SNP Government has been criticised by some MSPs as it has taken the
majority of places in all the committees of the Scottish Parliament and 8 out of 14
of the convenorships of these committees, leaving Labour in charge of three and
the Conservatives one. The Green Party has lost control of the one committee it
convened in the last Parliament. In the weekly First Minister’s Questions, only
the Labour and Conservative leaders are called each week to ask questions, with
the leader of the Liberal Democrats only called every two weeks. The SNP claim
these arrangements are fair and represent the strength of the party in the
Parliament. 'The other parties say it shows the SNP Government using its
majority to force their policies through the Parliament.
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Gender and Racial Profile of

Scottish Parliament Election 2011

Seotland 2011 Partiesinthe | Percentage (%) share
Male 40 Scottish Parliament of the vote
Female 51% SNP 44:0%
Labour 26:3%
White 96% Conservative 12:4%
Ethnic Minority % Liberal Democrat 52%
Green 44%
Others 77%
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Composition of the Scottish Parliament 2011
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"The election result of 2011 produced a Scottish Parliament which was representative of
the Scottish population.

View of Brian Moore




image45.png
SOURCE 1

Party Leaders’ Debates Change Election Campaign

When the General Election was called for April 2010, many people thought that
the campaign would be of little interest. The Conservative Party had been far
ahead of Labour in the opinion polls for many months. It was predicted that
David Cameron and the Conservative Party would win the election.

For the first time in the UK, televised
leaders’ debates were held. The three
main political parties agreed to hold
three debates involving Gordon Brown
(Labour), David Cameron (Conservative)
and Nick Clegg (Liberal Democrats).

The first debate had a major impact on
the opinion polls; Nick Clegg was thought et

to have done well. His strong performance, compared to thc other leaders, saw
the Liberal Democrats rise in the opinion polls and turned a “two horse race”
between Labour and Conservatives into a real contest between the three parties.

Many people felt the debates focussed too much on the personality of the leaders
at the expense of local campaigns; and image and style were seen to be more
important than policies. Some people believed the debates would have little
impact on the result as most people had made up their minds, before the election,
about who they would vote for.

Millions of viewers watched the debates and turnout increased in the 2010
election to 65:1%, up 4% on 2005. Labour lost the election; Gordon Brown
‘was thought to have done poorly in the debates. After the votes were counted,
no party had an overall majority so a coalition government was formed by the
Conservative Party, which was the largest party, and the Liberal Democrats.
David Cameron became Prime Minister with Nick Clegg as his deputy.
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Do you think the leaders’ debates Did the leaders’ debates make a
‘were a positive or negative change to difference to how you cast your vote
the election campaign? at the general election?

SOURCE 3

Who do you think performed best overall in the party leaders’ debates?

1st debate | 2nd debate | 3rd debate

Gordon Brown (Labour) 19% 29% 25%
David Cameron (Conservative) 29% 36% 41%
Nick Clegg (Liberal Democrats) 51% 32% 32%

Number of viewers (Channel debate shown on) | 9-4m (ITV) | 4-1m (Sky) | 8-4m (BEC)

All figures from YouGov
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“The party leaders’ debates in the 2010 election had little impact on the election campaign.

View of Adam Stewart

Using Sources 1, 2 and 3, explain why Adam Stewart is being selective in the use of facts.
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The G8 Promise to Africa

The “Group of Eight” or G8 countries are Canada,
France, Germany, Italy, Japan, Russia, United Kingdom muskok4 2010

and the United States. They are the world’s major
industrialised ~ democracies. On  many  occasions S
these G8 countries have committed themselves ~

to giving the UN recommendation of 0-7% of o canaba

Gross  National Income (GNI) as  Official

Development Assistance (ODA). It is felt that this

would help achieve dramatic progress in the fight against poverty in Africa. This
fight has gone on for a number of years but at the 2005 “Make Poverty History”
G8 summit at Gleneagles, Scotland, they promised to do the following by the
2010 G8 summit in Canada:

Promise 1: To improve Health Care

Promise 2: More than double, total ODA given to all less developed countries by
2010

Promise 3: To improve Education

Promise 4: Deliver a $22:6 billion increase in ODA to Sub-Saharan Africa
between 2005 and 2010
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Total ODA given by selected G8 Countries to all less developed countries

2005 2007 2010

Selected G8 Countries | QDA %of | ODA | %of | ODA % of
$Billions| GNI |$Billions| GNI |$Billions| GNI

Canada 26 027 41 029 51 033
France 85 041 99 038 12:9 0-50
Germany 75 028 123 037 127 038
Ttaly 25 015 40 019 31 015
Japan 89 019 77 017 110 020
United Kingdom 79 036 99 035 138 056
UsA 197 017 218 019 300 021
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Burundi | Ethiopia | Malawi
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Study Sources 1, 2 and 3 below, then attempt the question which follows.

SOURCE 1

Committees in the Scottish Parliament

Much of the important work of the Scottish Parliament goes on in the many committees set up
by the Parliament. In session 2008-09 the committees completed inquiries into a range of
subjects, including tourism, child poverty, fuel poverty, and flooding and flood management in
Scotland. In addition, the committees’ job is to closely check the work of the Scottish
Government and any of its proposed laws. Committee meetings have taken place in venues
around Scotland, including Fraserburgh, Ayr and Aberdeen.

Committees can request debating time in the Scottish Parliament to bring issues raised in
reports they have published to the attention of a wider audience. The Public Petitions
Committee, for example, debated its report on the availability, on the National Health Service
(NHS), of cancer treatment drugs. Committees also have the right to put forward Bills, hoping
they will become law. One Bill out of the 17 introduced in 2008-09 —on a pension scheme for
MsPs—was a Committee Bill.

The membership of the committees is made up of MSPs from every party, with Committee
Conveners, who chair meetings, being drawn from different parties. Most committees meet
weekly or fortnightly, usually on Tuesdays or on Wednesday mornings, in one of the Scottish
Parliament’s committee rooms—or in locations around Scotland. Most meetings are open to
the public.

Committees play a central part in the work of the Parliament—taking evidence from
witnesses, examining proposed new laws and conducting inquiries. The work of the
committees has contributed to the positive view most Scots have of their Parliament, with 70%
saying devolution had been good for Scotland after 10 years.
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Scottish Parliament Committees by Convener’s Party 2008-09
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Case Study: Public Petitions Committee
« The public petitions system gives members of the public direct access to policy
development and the chance to examine new laws.

« The Public Petitions Committee has nine members: three Labour, three SNP, and one
each from the Conservatives, Liberal Democrats and the Green Party.

« The existence of the Public Petitions Committee means the public can raise issues of
concern directly with their Parliament.

« During 2008-09, 112 new petitions were lodged; the committee heard oral evidence
on 35 new petitions and considered over 200 current petitions.

« The committee launched a year-long inquiry investigating ways to increase public
awareness of, and participation in, the petitions process.

« It took forward an inquiry into the availability of cancer treatment drugs on the NHS.

« It hosted a debate in the chamber of the Parliament where community groups,
victims, police, medical staff and many others met to discuss knife crime.

+ The Public Petitions Committee played an important part in the successful law
banning smoking in public places.

« The e-petitions system, which allows petitions to be raised online, continued to be
influential, with around two-thirds of petitions being lodged in this way.

« Members of the public have lodged over 1,244 petitions in the past ten years.

Using Sources 1, 2 and 3 above, what conclusions can be drawn about committees in the
Scottish Parliament?

You should reach a conclusion about each of the following:
« the work done by committees
« the membership of committees

+ public involvement in committees.

Your conclusions must be supported by evidence from the sources. You should link
information within and between sources in support of your conclusions.

Your answer must be based on all three sources.
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Millennium Development Goals

The Millennium Development Goals were agreed by 189 countries in New York in 2000.

Selected Millennium Development Goals

1:

2:

3
%

Reduce child mortality
Achieve primary education for all
Remove extreme poverty and hunger

Combat diseases

These goals represented a commitment by rich and poor nations to expand social and
economic progress in all regions of the world, as well as creating a global partnership for
reducing levels of poverty and suffering in less developed countries by 2015.

Many are now questioning the commitment of the More Developed Countries to making
these goals a reality as few MDCs give the UN recommended 0-7% of Gross National

Income (GNT).
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SOURCE 2: Aid given by selected Donor Countries

Aid Given
Selected Donor| 2004  [2010 (prediction)] % Largest recipients
Countries S billions $ billions increase ($ millions)
(% of GNI) | (% of GNI)
1. India ($419)
UK (‘7):’3‘2) '(g:gg) 85 2. Bangladesh ($267)
3. Tanzania ($265)
1. Iraq (82286)
USA 1(:’)17) 2(3:?2) 22 2. Congo ($804)
3. Egypt (§767)
) i 1. Angola (8367)
Portugal (‘1)_2; (g_gf) ~10 [2. Cape Verde ($39)
3. Timor ($34)
) i 1. Dem. Rep. Congo ($235)
Ttaly (‘2)_‘:; (3_§§‘) 276 [2. China ($52)
3. Tunisia ($41)
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Four Poorest African Countries — Progress on selected Millennium Development Goals

SierraLeone | Tanzania Burundi Malawi

Selected \ Year 1996 | 2006 | 1996 | 2006 | 1996 | 2006 | 1996 | 2006

Indicators

% of population 44 50 50 44 63 67 50 34

undernourished

Child Morality (per B N

1000 birthe) 293 | 283 | 159 | 126 | 19 | 19 | 216 | 175
1 year olds vaccinated| =gy 64 49 91 80 75 90 80

% Primary school 43 73 94 95 43 57 48 98

enrolment

Using only the information above and opposite, you must make and justify conclusions about
progress towards the Millennium Development Goals using the four headings below.

+ Progre
+ Progre

s towards Millennium Development Goal 1
s towards all of Millennium Development Goal 3

+  The commitment of More Developed Countries to meeting the UN aid recommendation
*  The commitment of Donor Countries to the world’s four poorest nations
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Inequality between Men and Women in the USA

The USA is proud of its reputation as a land of equal opportunity. However, women do
not always experience equality in all aspects of life. In 2010, the USA was ranked in 19th
place out of 134 in the Global Gender Gap Report, up from 31st place in 2009.

In education, women have made considerable progress. Younger women have now
overtaken men in achieving college and university qualifications. Progress in education
should lead to improvements in employment and pay; however, this is an area where
women have not had much success. In 2009, the average weekly earnings for men was
over $820 while for women the figurp was about $630. This difference in earnings
between men and women was found across male and female workers no matter what their
level of educational qualifications. It has taken women longer than men to recover from
the impact of the recession. Women have higher graduation rates at all academic levels.
In 2008, females of all ethnic groups age 16 to 24 had lower high school dropout rates
than males.

In health, women are more likely to live longer than men although the gap has narrowed
in recent years from eight years to five years. More American women than men are
obese. Progress in tackling different causes of death amongst women has been mixed.
Mortality from heart disease, the leading cause of death for women, has fallen by 68%
since 1950. However, the mortality rate for cancer, the second leading cause of death
among women has only fallen by 17% since 1950 and the lung cancer death rate has risen
by more than 500%.
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Percentage of men and women
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Average Weekly Earnings for Women
and Men by Educational Qualifications

$1,400
$1,200
$1,000
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$600 O Men
$400 [l Women
$200
0
8 Less thana | High school ' Some college | Bachelor’s
high school graduates, no or associate  degree and
diploma college degree higher
Chronic Health Conditions for Men and Women
Heart |Hypertension |Asthma| Chronic | Cancer | Diabetes | Arthritis
disease bronchitis or
emphysema
Men 13% 24% 5% 4% 7% 9% 17%
Women | 10% 23% 10% 6% 8% 7% 24%
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Using Sources 1, 2 and 3 above and opposite, what conclusions can be drawn about
inequality between men and women in the USA?

You should reach conclusions about at least three of the follow
+  inequalities in education

+  inequalities in health

+  inequalities in employment and earnings

« the overall progress of women.

ence from the Sources. You should compare

Your conclusions must be supported by e
information within and between Sources.

(8 marks)
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Home Ownership in the USA

The aim of owning your own home is, for many Americans, an important part of the American
Dream. As the USA and its people have become richer, home ownership has increased. Not all
groups in America have been able to achieve the dream of owning their own homes, many poorer
Americans have had to continue to rent their homes as they cannot afford to buy their own homes or
do not earn enough to get a mortgage.

“There has never been equal access to home ownership between groups in America. Younger people
find it harder to get on the housing ladder; as people get older they are more likely to be in well paid
jobs and be able o buy a house. The type of household you are in will also have an impact on home
ownership rates with married couples being more likely to own their house than other types. Ethnic
minorities are less likely to own a house compared to Whites and their houses are usually of lower

value. It also depends on where you live with some regions of the country hay
house ownership than others.

g a higher level of

The financial crisis which began in mid-2006 has had a huge impact on home ownership in the
USA. The crisis led to an increase in interest rates resulting in higher mortgage payments and a
fall in the value of houses. As a result, people who had recently become home owners could not
meet their mortgage payments, got in debt and were unable to sell their houses. The result was that
huge numbers of people lost their homes. It was the poorest groups, young home owners and ethnic
minorities in particular who were most likely to lose their homes.
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Home owners as a percentage Percentage Homeowners ownership rate
of US households: 1995 — 2010 by Region
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1995 2005 2010 Midwest South Northeast West
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Option 1 Option 2
Build the Melo Bonte Dam Do not build the Melo Bonte Dam

SOURCE 1

‘Government Signs Contracts for Controversial Rainforest Dam

In July 2010, a South American Government signed contracts for the construction of a
massive new hydroelectric dam in their rainforest. Once complete, Melo Bonte will be
the world's third-largest hydroelectric dam. The Minister of Mines and Energy said the
Melo Bonte complex, to be built near the mouth of the Celdy River in the northern
rainforest, will “play an important role in the development of the area and people
displaced by the dam will be compensated”.

The project has raised a storm of protest, with many judges, Hollywood celebrities,
environmental pressure groups and organisations representing rainforest residents,
opposing it. In April 2010, Avatar director James Cameron and two members of the
film’s cast took part in protests about the dam. Protesters say the proposed dam would
cause “serious damage” to the rainforest ecosystem and the lives of up to 50,000
rainforest residents could be affected as 500 square kilometres could be flooded.

The Government says the dam is vital for the continued expansion of the economy, as
the growing population needs more electricity. The Melo Bonte Dam is expected to
provide electricity for 23 million homes. The companies awarded contracts to build the
dam will have to pay large amounts to protect the environment. The Government said
that most people support the decision to build the dam.

The dam has been defended by some of the rainforest’s residents who hope to benefit
from the estimated 18,000 direct jobs and 80,000 indirect jobs the project will create.
However, some experts and business representatives in the energy industry also oppose
the dam. They say the actual cost will be 60% higher than its Us$10-8 billion budget
and will only operate at 40% of its capacity due to the drop in water in the Celdy River
during the dry season.
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Percentage Home Ownership Rates by Selected Groups
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Using Sources 1, 2 and 3 above and opposite, what conclusions can be drawn about home ownership
in the USA?

You should reach conclusions about at least three of the following:
+ home ownership and ethnic groups

+ home ownership and region

+ home ownership and household type

+ home ownership and age.

Your conclusions must be supported by evidence from the Sources. You should compare information
within and between Sources.
(8 marks)
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Spotlight on Trade Unions
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Regional unemployment in
Great Britain in 2010 (%)

Regional union membership in
Great Britain (2010)
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Using only the information from the “Spotlight on Trade Unions” pamphlet above
and opposite, what conclusions can be drawn about trade unions in GB?

You must make and justify a conclusion about each of the following headings.

The change in union membership within “Traditional Industries”.
The link between gender and trade union membership across all ethnic groups.
The link between regional unemployment and regional trade union membership.
The success of trade unions in maintaining wage differences between union and
non-union members.

(Enquiry Skills, 8 marks)
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Focus on London

In 2003, there were 7,428,600 people in London.

The city is divided into 32 boroughs.

It is by far the largest city in the United Kingdom accounting for 12:5% of the country’s
population.

Many immigrants have moved to London making it very ethnically mixed.

The Population of London: Ethnic Composition (2005)
|

Number %
White 5,182,200 700 1 Barking and
Black 809,000 102 Dagenham
Indian 473,800 65 2 Brent
Bangladeshi 163,900 23 3 Kensington and
Pakistani 161,800 22 Chelsea
Chinese 103,000 15 4 Newham
Others 532,900 73 5 Suton
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Resident Population by Ethnic Group in Selected London Boroughs (%)

Ethnic  [Barking and Kensington .
Group | Dagenham | B |und Chelsea| NeWham | Sutton
White 852 453 786 394 892
Black 70 19-9 70 216 26
Indian 23 185 20 121 23
Bangladeshi | 0-4 05 07 88 03
Pakistani 18 40 08 85 07
Chinese 05 10 16 10 07
Others 28 108 93 86 42
SOURCE 2

Crime in Selected London Boroughs (Rates per 10,000 people)

Type of Barking and Kensington

Crime Dagenham | Brent  |and Chelsea| Newham | Sutton
Violence 321 308 181 340 178
Robbery 47 88 49 101 23
Burglary 68 9% 85 108 38
Car Crime 200 180 169 282 132
Total Crime | 652 684 495 847 381
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Employment Statistics for Selected London Boroughs (%)

Employment - ) Unemployment
R Self-employed I
Barking and Dagenham 620 12:8 9-6
Brent 683 17-1 77
Kensington and Chelsea 672 257 63
Newham 594 12:8 87
Sutton 883 116 49
SOURCE 4

Education and Earnings in Selected London Boroughs

Percentage of
pupils achieving
5 or more exam | Average Weekly Income
passes by age 16

Barking and Dagenham 558 £478:30
Brent 614 £467-50
Kensington and Chelsea 630 £818-40
Newham 528 £460-40

Sutton 70-8 £506:00
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Using only the information about London and Sources 1, 2, 3 and 4, what
conclusions can be drawn about London and some of its boroughs?

You must make and justify a conclusion about each of the following headings.

+ The relationship between education and unemployment
+ The relationship between total crime and income
+ The borough whose ethnic mix is most like that of London as a whole
+ The borough that would be the most desirable to live in
(Enquiry Skills, 8 marks)
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Results of Opinion Polls

What is the main priority facing the country?
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Melo Bonte Dam Protests: April-July

April 12 | International celebrities attend protests along with over 500 protesters to demand the
cancellation of the project to build the Melo Bonte dam.

April 15 | Under pressure from local people and campaigners, local politicians in the area obtain a
court injunction to ban companies from bidding to build the dam.

April 17 | The Government wins an appeal to overturn the ban in a higher court.

April 18 | 500 Greenpeace protesters dump three tons of manure in front of the National Electric
Energy Agency in the capital city.

May 19 The Government finally wins the court case and awards the US$10 billion contract to a
group of nine companies who hope to be transmitting power.

June 17 | Kayapo Indians, who live in the rainforest, blockade a major highway disrupting
commercial goods traffic.

June 20 | Many people who live in the rainforest back the dam because it will generate
employment to replace the jobs lost since a clampdown on illegal logging.

July 2 Campaigners say they will continue protesting despite the contract being awarded.

July 15 | The companies building the dam agree to pay US$803 million to create parks and help

monitor forests and to pay compensation to people affected by the dam.

You must decide which option to recommend, either build the Melo Bonte Dam (Option 1)
or do not build the Melo Bonte Dam (Option 2).

(i) Using Sources 1, 2 and 3 above and opposite, which option would you choose?
(i) Give reasons to support your choice.
(iii) Explain why you did not choose the other option.

Your answer must be based on all three sources.
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